Israeli Economy Exam
The exam includes 20 questions.
Each correct answer earns 5 points.
You have an hour and a half.

Good Luck!
A decrease in child benefits (allowances)
Will not change the rate of participation in the labor force
Will reduce participation in the labor force
Will reduce the number of participants in the labor force but will increase the working hours of those who work
Will lead to an increase in participation in the labor force
The overall size of the Israeli public sector during the lost decade (as percentage of the GDP)
Was relatively small on average compared with the average of the 
OECD countries during the same period.

Was relatively large in comparison to the US, but relatively small 
compared to European countries.

Was on average larger than the OECD average.

Answers A and C are correct.

Is the state budget balanced over the past decade (on average)?

No, there is a surplus of income from taxes on expenditures, as a result of economic growth.

No, there is a deficit in the state budget.

The budget is exactly balanced (on average) - there is no surplus and no deficit.

It is impossible to know because the government does not publish the above data.

What were the principles of the stabilization plan that was introduced in the economy in 1985?

Freezing of prices, reducing the deficit in the public sector, freezing the exchange rate and freezing employees’ wages.

Freezing the exchange rate, subsidies for export, freezing employees’ wages and freezing prices.

Freezing prices, encouraging investments from abroad, freezing employees’ wages and reducing the deficit in the public sector.

Freezing the exchange rate, reducing the deficit in the public sector, subsidies for export and freezing employees’ wages.

What influences inequality in Israel?

Lowering income tax rates has led to an increase in inequality.

The cuts in benefits in 2003 led to an increase in inequality in the short term.

Personal choices about education, number of children and participation in the labor force.

Answers A  B and C are correct.

 What caused the economic crisis in 2000?

The high-tech crisis (the .com bubble(
The Second Intifada
Answers A and B are correct
It is impossible to know - there is a disagreement among
economists

The GDP accurately measures the quality of life in the state
Correct

Incorrect

You cannot tell
None of the above
You own a lollipop factory. It is 2011 and the Governor of the Bank of Israel     
decided to lower the interest rate. What are you likely to do?

I will expand the plant.

I will not expand the plant.

You cannot tell.

There is no connection between raising the interest rate and my decision.

When the economy is in recession and public debt is not high
a. It is desirable to increase government spending

b. It is advisable to cut government spending

c. It is advisable to reduce tax rates

d. Answers A and C are correct
 The increase in the participation rate in the Israeli labor force over the last 
  three 
decades
a. Resulted from an increase in the participation of women and men

b. Resulted from an increase in the participation of women, with men’s participation unchanged

c. Resulted from an increase in the participation of women, while the participation of men decreased

d. Resulted from an increase in the participation of men, while women's participation remained unchanged
According to the Gini index
a. Inequality in Israel today is lower than in the 1980s, but is declining

b. Inequality in Israel today is higher than in the 1980s, but is declining

c. Inequality in Israel today is higher than in the 1980s, but is increasing 

d. Inequality in Israel today is lower than in the 1980s, but is increasing
The public debt in Israel, in billions of shekels (i.e. not as a percentage of 

the GDP), in 2019:

Is relatively high to Israel's public debt in the past
Is relatively low to Israel's public debt in the past

   With no change relative to Israel's past public debt

You cannot tell
The public debt in Israel, as a percentage of the GDP, in 2019:

a. Lower than the OECD average.
b. High relative to European countries.
c. Relatively low to Israel's public debt in the past.
d. Answers A and C are correct
The unemployment rate in Israel in 2018

a. Is relatively higher than the average unemployment rate in Israel between 2000-2010.
b. Similar to the average unemployment rate in Israel between 2000-
    2010.
c. Is relatively low compared to the average unemployment rate in 
   Israel between 2000-2010.
d. You cannot tell.

Long-term growth is, among others, the result of:
a. The reduction of the bank of Israel interest rate

b. An increase in the capital level of the economy

c. An increase in government expenditure

d. Reduction of the tax burden
The increase in inequality after the lost decade

a. Is among other things the result of global changes

b. Has nothing to do with global forces, but with the process of 

    liberalization 

c. Is the result of the political change of 1977

d. Is the result of peace with Egypt
Growth and recession in the short term

a. Are caused only by changes in supply and demand

b. Are affected only by monetary policy and markets in demand

c. Are affected only by monetary policy, markets in demand and one-time factors

d. Answers A-C are incorrect 
The Israeli government decides to increase government expenditure without 
changing tax rates
a. This will lead to an increase in GDP in the long run

b. This will not affect GDP

c. This will lead to an increase in GDP in the short term

d. You cannot tell
The Government of Israel decides to lower the tax rate without changing the 
government's expenditure

This will lead to an increase in GDP in the long run

This will lead to an increase in GDP in the short term

This will not affect GDP

You cannot tell
Complete the sentence: _______ of the dollar against the shekel will cause 
prices to _______ in Israel

a. Strengthening, rise

b. Strengthening, decline

c. strengthening, stabilize 

d. You cannot tell
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